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Compute the true values of collapse load for the portal frame
loaded as shown in fig. no.
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Determine the plastic and elastic section modulus and shape factor
of C section as shown in fig. no.
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An[.S.L.C 300 @ 324.7 N/m is used to transmit a force of 575

COo3 PO2 | kN. The channel section is connected to a gusset plate 12 mm 15
thick. Design a fillet weld if the overlap is limited to 300 mm.
Use slot welds if required.
Design a single bolted double cover butt joint to connect boiler

Cco4 PO11 | plates of thickness 12 mm for maximum efficiency. Use 16 mm 15

diameter bolts of grade 4.6. Boiler plates are of Fe 410 grade.
Find the efficiency of the joint.
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